Name (Print Clearly):                                  PID: 

MTH133 Section 64, Quiz 4
Oct.26, 2009   Instructor: Dr. W. Wu 

Instructions: Answer the following questions in the space provided. There is more than adequate space provided to answer each question. The total time allowed for this quiz is 15 minutes.

1[4 pts]. Evaluate 
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Use trig substitution: let
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2．Evaluate the following improper integrals    Page 631 #7， #23
(a) [3 pts] 
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(b) [3 pts] 
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  (Hint:  |x| is equal to -x when x< 0)
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3 [5 pts]. Solve the differential equation with an initial condition.
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 y(0) = 3.    （supplemental exercises of 9.1 #5）
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Substituting x=0, y= 3 yields 
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So 
[image: image12.wmf])

2

1

ln(

)

2

1

ln(

2

1

2

3

2

3

2

3

x

e

y

x

e

y

x

e

e

y

-

-

=

Þ

-

=

-

Þ

-

=

-

-

-

-


4 [bonus 2 pts]. Testing for convergence: 
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 when x>=1 
We know 
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 is divergent, so is
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